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Learning Objective: 
	To be able to calculate fractions of amounts
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I am able to multiply and divide integers

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
[image: ]


	PRACTICE #1:  

[image: ]





	
WORKED EXAMPLE #2:  
[image: ]

	PRACTICE #2: 
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	PRACTICE #3:  
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	PRACTICE #4:  
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Learning Objective: 
	To be able to express one number as a fraction of another
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I am able to simplify fractions

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
5
20
Write £5 as a fraction of £20
÷ 5
÷ 5


1
4






	PRACTICE #1:  

1. What is 10 as a fraction of 100?
2. What is 5 as a fraction of 20?
3. What is 9 as a fraction of 90?
4. What is 50 as a fraction of 100?
5. What is 6 as a fraction of 9?
6. What is 15 as a fraction of 35?
7. What is 16 as a fraction of 48?
8. What is 20 as a fraction of 50?



	WORKED EXAMPLE #2:  In a class of 30 pupils, 12 are girls. What fraction of the class are girls?

 
2
5
÷ 6
÷ 6
12
30





	PRACTICE #2: 

1. In my pencil case I have 2 blue pens, 2 black pens and a green pen. What fraction of my pens are blue?

2. There are 30 men and 20 women at a conference. What fraction of the people were men.

3. I printed 60 assessments and 10 were on yellow paper. What fraction of the assessments were on yellow paper?

4. I have 9 blue, 3 red, 6 green, and 11 yellow smarties. What fraction of the smarties are :
a) Blue         b) red        c) Not blue


	PRACTICE #3:  

1. The table below shows the colours of cars in the car park.
	Car colour
	Frequency

	Black
	25

	White
	10

	Grey
	10

	Red
	5

	
	


	
What fraction of the cars were

a) Black       b) white       c) red       d) Not grey

	PRACTICE #4:  
9. Sophie did a survey on the year 8 pupils’ favourite flavour ice cream. She recorded her results in the table below.
	Ice cream flavour
	Tally
	Frequency

	Chocolate
	| | | | | | | | | | | | | | |
	15

	Vanilla
	| | | | | | | | | | | | | | | | | | | |
	20

	Strawbery
	| | | | | | | | | |
	10

	Mint chocolate chip
	| | | | | |
	6

	Salted caramel
	| | | | 
	4

	Lemon sorbet
	| | | | |
	5


	
a) What is wrong with Sophie’s tallying method? What fraction of students liked
b) Chocolate     c) salted caramel        d) vanilla




	 
Learning Objective: 
	
To be able to convert decimals to fractions and order fractions
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I am able to use the ‘bus stop’ method or long division

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
[image: ]


	PRACTICE #1:  

Convert the following fractions into decimals

[image: ]


	WORKED EXAMPLE #2:  
[image: ]

	PRACTICE #2: 

[image: ]


	PRACTICE #3:  

[image: ]




	 
Learning Objective: 
	To be able to add & subtract decimals
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I am able to use the column method for addition

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
[image: ]


	PRACTICE #1:  

[image: ]


	WORKED EXAMPLE #2:  
[image: ]

	PRACTICE #2: 

[image: ]


	PRACTICE #3:  

[image: ]
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Question 2:  Work out each of the following
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Declan won £6000 in a competition,
2
Heinvests  of themancy.

How much money did Declan invest?
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The size of ajar of coffeeis increased by one fifth.
The new size is later reduced by one fifth.

I the new jar smaller;the same size or larger than the original?
Explain how you worked out your answer.

Acompany earns £3,178,784n 2016,

7 ofthe income is spent on salaries.

How much money does the company spend on salaries in 20167




image9.png
List the square numbers between 50 and 200
Work out the difference between 25.6 and 19.07
Work out 7 - -7

Work out 272 + 8

Work out 1.5 x 6
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Expand and simplify 3(2a + 3b) + 2(a + 2b)
Solve 2(4a+1)=10

Work out £15.50 x 24

Express 84 as a product of primes

Find the nth term of 4, 7, 10, 13
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Question 1 Corvert the following fractions to decimals.
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Expand and simplify 4(3a - 2b) + 2(3a + 5b)
Solve 3(2a+5)=3

Work out £12.75x 24

Express 144 as a product of primes

Find the nth term of 11, 21, 31, 41
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Common error when adding and
subtracting decimals

Not lining up the decimal points (and
using the multiplication rule to place
the decimal point in the answer)

Insteadof this

23.6 2360

+1.73 +1.73
409 2533

ithelps if 1 add a
zero on the right
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Question 1: Work out the answers to the following additions
(a)45+23 (b) 84+ 17 (c) 0.7+0.5 (d) 28+10.3
(e) 134+ 289 (f) 2062+72.8 (g) 64+ 159 (h) 0.5+ 08+ 0.1

() 97+14+13 () 16.8+39+1022+874

Question 2: Work out these additions
(a) 0.14+0.53 () 0.35+0.65 (c) 247+3.34 (d) 493 +2.25
(e) 477 +1.84 f) 1038+ 6.81 (g) 783+1249 (h) 0.56+107.08

(i) 9.85+2.63 + 0.89 () 0.08+0.12 + 0.87 + 1.93 + 2.06
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0.32+12.965+1.1

Line up
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decimal
points
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Question 3:  Complete these additions

(a) 6.5+1.73 () 056+ 1.6 (c)245+78
(e) 9.2+ 487 (f) 1.08+ 2.6 (g) 20.6+15.84
(i) 7.4+2329 () 0.018+239 (k) 9.224+889

(i) 452+03+0.79+14 (j) 0.94+48+12.09 +5.63

Apply

(d) 867+39
(h) 41.8+535

(1) 0.293 +9.815

Question 1:  Richard buys a notebook that costs £6.78 and a pen that costs £4.]

Work out the total cost.
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David drives 4.8 miles to Bristol and a further 6.7 miles to Bath.

Work out how far he drives in total.

Mr Jenkins has three pieces of rope.

The pieces of rope are 2.

35m, 1.8m and 3.06m long.

Work out the total length of the pieces of rope.

Shown is a rectangle.
Calculate the perimeter.

11.26cm

5.6cm

Work out the missing number.

[ ]-528-109

s,
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Write down the first 6 cube numbers

Work out 112.4 - 15.93

Work out -3 - -7

Work out 58 x 35

Work out 0.11 x 0.8
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Find § of72
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